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fgUnh 

1- Hkkjr esa lokZf/kd cksys tkus okyh Hkk"kk dkSu&lh gS \ 

 (a) fgUnh (b) laLd`r   

 (c) rfey (d) mnwZ   

2- fuEu esa ls dkSu ^V oxZ* ugh gS\ 

 (a) B (b) <+   

 (c) .k (d) ?k   

3- 'kCn ^lUefr* dk lgh laf/k foPNsn D;k gS\ 

 (a) le~ + efr (b) lu~ + efr   

 (c) ln~ + efr (d) lr~ + efr   

4- 'kCn ^uoxzg* esa dkSu&lk lekl gS\ 

 (a) f}xq lekl (b) rRiq:"k lekl   

 (c) }U} lekl (d) deZ/kkj; lekl   

5- mRifÙk ds vk/kkj ij 'kCn ds fdrus Hksn gksrs gSa\ 

 (a) 3 (b) 4   

 (c) 5 (d) 6   

6- fuEufyf[kr esa ls dkSu&lk fodYi fu’p;okpd 

loZuke gS\ 

 (a) D;k (b) dqN   

 (c) dkSu (d) ;g   

7- fuEufyf[kr esa ls dkSu&lk fodYi 'kCn ^?kj* dk 

iz;kZ;okph 'kCn gS\ 

 (a) fogkj (b) byk   

 (c) fudsru (d) ux   

8- fuEufyf[kr esa ls 'kCn ^ean* ds foykse 'kCn dk p;u 

djksA 

 (a) lqLr (b) nzqr   

 (c) 'kh?kz (d) Rofjr   

9- okD; ^ogk¡ tkvksA* fdl oxZ ds varxZr vkrk gS\ 

 (a) fu"ks/kokpd  (b) iz’uokpd   

 (c) vkKkokpd  (d) vuqjks/kokpd   

10- eqgkojs ^yky&ihyk gksuk* dk D;k vFkZ gS\ 

 (a) eqnzk,¡ cnyuk (b) dzks/k djuk   

 (c) rsoj cnyuk (d) jax cnyuk  

 

ENGLISH 
 

11. Fill in the blank. 

 I told him that I ……….. do that work. 

 (a) will   (b) can   

 (c) would    (d) shall    

12. Fill in the blank. 

 A motorcycle costs ……… than a bicycle. 

 (a) much   (b) high   

 (c) less    (d) more    

13. Fill in the blank. 

 Oil and water ………. mix. 

 (a) does not   (b) do not   

 (c) not    (d) None of these    

14. The gallery, with its beautiful pictures, 

…………. a great attraction. 

 (a) are   (b) is     

 (c) were    (d) have    

15. What is the meaning of the word ‘Mature’? 

 (a) toku (b) ueh   

 (c) ifjiDo    (d) nknk th    

16. Which of the following is a negative 

sentence? 

 (a) I like mangoes.   (b) He does it.    

 (c) I took tea.    (d) He does not do it.     

17. Fill in the blank. 

 ………….. book you gave me is lost. 

 (a) The    (b) A   

 (c) An    (d) None of these    

18. ……….. shirt is costly but ………… shirt is 

cheap. 

 (a) This, that   (b) That, this    

 (c) This, those    (d) This, these    

19. Pick out the most appropriate word exactly 

opposite in meaning (antonym) of the word 

‘Beautiful’. 

 (a) Wonderful   (b) Graceful   

 (c) Ugly    (d) Handsome    

20. Pick out the most appropriate equivalent 

(synonym) of the word ‘Secure’. 

 (a) Defended   (b) Safe   

 (c) Protected    (d) Dangerous    

 



 

xf.kr

 

21- ljy djksA   72519 × 9999  

 (a) 725117481   (b) 674217481   
 (c) 685126481    (d) 696217481  

22- ;fn la[;k 91876-\-2] 8 ls iw.kZr;k foHkkftr gksrh 

gks] rks -\- ds LFkku ij vkus okyh NksVh ls NksVh iw.kZ 

la[;k D;k gksxh\ 

 (a) 1 (b) 2   
 (c) 3    (d) 4  

23- 91 ls iw.kZr;k foHkkftr gksus okyh ik¡p vadksa dh cM+h 

ls cM+h la[;k Kkr djksA 

 (a) 99921   (b) 99918    
 (c) 99981    (d) 99971      

24- fuEufyf[kr la[;kvksa esa ls dkSu&lh la[;k 3] 7] 9 

vkSj 11 ls iw.kZr;k foHkkftr gksrh gS\ 

 639] 2079] 3791] 37911 

 (a) 639   (b) 2079   
 (c) 3791    (d) 37911  

25- la[;k (1570)2 + (1571)2 + (1572)2 + (1573)2 

esa bdkbZ ds LFkku ij dkSu&lk vad gS\ 

 (a) 1   (b) 2    
 (c) 3     (d) 4     

26- ;fn √  = 2.236 gks] rks 
 

√ 
 dk eku Kkr djksA  

 (a) 0.367   (b) 0.447   
 (c) 0.745    (d) buesa ls dksbZ ugha   

27- √      dk eku Kkr djksA 

 (a) 0.011   (b) 0.11    
 (c) 0.347    (d) 1.1    

28- izFke 50 izkd`r la[;kvksa dk vkSlr Kkr djksA 

 (a) 12.25   (b) 21.25   
 (c) 25    (d) 25.5    

29- fjDr LFkku HkjksA 

 500 lsaeh-+ 50 eh-+ 5 fdeh- ¾ ------------- 

 (a) 5055 eh-   (b) 55 eh-    

 (c) 5505 eh-    (d) 555 eh-  

30- 11111 × 11111 dk eku Kkr djksA 

 (a) 123453421 (b) 1234321   

 (c) 123454321 (d) 12345421   

 

 

 

 

 

21. Simplify.     72519 × 9999  

 (a) 725117481   (b) 674217481   
 (c) 685126481    (d) 696217481    

22. If the number 91876.?.2 is completely  

 divisible by 8, then the smallest whole 

number in place of .?. will be: 

 (a) 1 (b) 2   
 (c) 3    (d) 4 

23. Find the largest five digit number exactly 

divisible by 91. 

 (a) 99921   (b) 99918    

 (c) 99981    (d) 99971       

24. Which of the following numbers is 

completely divisible by each one of 3, 7, 9 

and 11?           639, 2079, 3791, 37911 

 (a) 639   (b) 2079   
 (c) 3791    (d) 37911   

25. The digit in unit’s place of the number 

 (1570)2 + (1571)2 + (1572)2 + (1573)2 is : 

 (a) 1   (b) 2    
 (c) 3     (d) 4     

26. If √  = 2.236, then find the value of 
 

√ 
 . 

 (a) 0.367   (b) 0.447   
 (c) 0.745    (d) None of these    

27. Find the value of √      . 

 (a) 0.011   (b) 0.11    
 (c) 0.347    (d) 1.1     

28. Find the average of first 50 natural 

numbers. 

 (a) 12.25   (b) 21.25   

 (c) 25    (d) 25.5    

29. Fill in the blank. 

 500 cm + 50 m + 5 km = …………. 

 (a) 5055 m   (b) 55 m    
 (c) 5505 m    (d) 555 m     

30. Find the value of 11111 × 11111. 

 (a) 123453421 (b) 1234321   

 (c) 123454321 (d) 12345421  

 
 
 



foKku 

 

31- ^;hLV* dk mi;ksx fuEu esa ls fdl ds mRiknu esa 

gksrk gS\ 

 (a) phuh (b) HCL   

 (c) ,ydksgy (d) O2   

32- fuEufyf[kr esa ls dkSu&lk xq.k /kkrqvksa esa ik;k tkrk 

gS\ 

 (a) vk?kkV o/kZuh;rk (b) rU;rk   

 (c) (a) vkSj (b) nksuksa (d) buesa ls dksbZ ugha   

33- dksd yxHkx 'kq) :i gS & 

 (a) vkDWlhtu dk (b) ukbVªkstu dk   

 (c) dkcZu dk (d) gkbMªkstu dk   

34- og U;wure rki ftl ij dksbZ inkFkZ tyus yxrk gS] 

D;k dgykrk gS\ 

 (a) Toyu rki  

 (b) DoFkukad   

 (c) xyukad  

 (d) buessa ls dksbZ ugha   

35- og iqLrd ftlesa ladkVkiUu tkfr;ksa dk fjdkMZ gksrk 

gS] D;k dgykrh gS\ 

 (a) uhyh MkVkiqLrd (b) gjh MkVkiqLrd   

 (c) yky MkVkiqLrd (d) mikjksDr lHkh   

36- os tUrq tks lh/ks gh f’k’kq dks tUe nsrs gSa] D;k 

dgykrs gSa\ 

 (a) vaMiztd (b) tjk;qt   

 (c) nksuksa (a) vkSj (b) (d) buesa ls dksbZ ugha   

37- fuEu esa ls dkSu&lk vkgkj fd’kksj ds fy, loksZfpr 

gS\ 

 (a) fpIl] uwMYl] dksd  

 (b) jksVh] nky] lfCt;k¡   

 (c) pkoy] uwMYl] cxZj  

 (d) fpIl] yseu is;   

38- lkekU; okrkZyki dh izcyrk fdruh gksrh gS\ 

 (a) 10 db   (b) 60 db    
 (c) 90 db     (d) buesa ls dksbZ ugha   

39- fjDr LFkku HkjksA 

 uhacw dk jl vPNk ------------ gksrk gSA 

 (a) pkyd  (b) dqpkyd   

 (c) v/kZpkyd (d) mijksDr lHkh   

40- vk¡[k esa izfrfcac dgk¡ curk gS\ 

 (a) dkWfuZ;k ij (b) ifjrkfjdk ij   

 (c) n`f"ViVy ij (d) buesa ls dksbZ ugha   

 

 

 

31. Yeast is used in the production of : 

 (a) Sugar   (b) HCL    

 (c) Alcohol     (d) O2     

32. Which one of the following is a property of 

metals? 

 (a) Malleability   (b) Ductility    

 (c) Both (a) & (b)    (d) None of these     

33. Coke is almost pure form of:  

 (a) Oxygen   (b) Nitrogen    

 (c) Carbon     (d) Hydrogen     

34. The lowest temperature at which a 

substance catches fire is called: 

 (a) Ignition Temperature 

 (b) Boiling Temperature    

 (c) Melting Point      

 (d) None of these     

35. Book containing record of endangered 

species is known as: 

 (a) Blue data book   (b) Green data book    

 (c) Red data book    (d) All of these    

36. The animals which give birth to young 

ones, are called: 

 (a) Oviparous   (b) Viviparous    

 (c) Both (a) & (b)     (d) None of these     

37. The right meal for adolescents consists of: 

 (a) Chips, Noodles, Coke 

 (b) Chapati, Dal, Vegetables   

 (c) Rice, Noodles, Burger 

      (d) Chips, Lemon Drink     

38. What is the loudness of normal 

conversation? 

 (a) 10 db   (b) 60 db    

 (c) 90 db     (d) None of these     

39. Fill in the blank. 

 Lemon juice is a good ………….. 

 (a) Conductor   (b) Insulator    

 (c) Semiconductor    (d) All of these     

40. In eye, image is formed on: 

 (a) Cornea   (b) Iris    

 (c) Retina     (d) None of these   

 
 



  

Lkkekftd foKku 

 

41- ^fcjlk eq.Mk* dh e`R;q dc gqbZ\ 

 (a) 1900 bZloh   (b) 1898 bZloh  

 (c) 1901 bZloh   (d) 1904 bZloh     

42- ^iqutkZxj.k* ls vkidk D;k vfHkizk; gS\ 

 (a) dyk ,oa Kku dk iqutZUe 

 (b) ,d izdkj dh feV~Vh   

 (c) yksd u`R; 

 (d) bVyh dh Hkk"kk   

43- fuEu esa ls jktk jfo oekZ fdl ls lacfU/kr Fks\ 

 (a) dukZVd (b) caxky   

 (c) dsjy (d) xqtjkr   

44- dikl dh Qly ds fy, fdl izdkj dh feV~Vh 

mi;ksxh gS\ 

 (a) tyks<+ feV~Vh (b) igkM+h feV~Vh   

 (c) yky feV~Vh (d) dkyh feV~Vh   

45- fdl 'kgj dks ^Hkkjr dk ekupsLVj* dgk tkrk gS\ 

 (a) vgenkckn (b) eqEcbZ   

 (c) dydrk (d) vykgkckn  

46- Hkksiky xSl nq?kZVuk dc ?kfVr gqbZ\ 

 (a) 1980 (b) 1987   

 (c) 1984 (d) 1982   

47- Hkkjr ds fons’k ea=h dkSu gSa\ 

 (a) lyeku [kq’khZn (b) ,l- ,e- d`".kk   

 (c) iou caly (d) iz.ko eq[kthZ   

48- ^;wfu;u tSd* D;k gS\ 

 (a) Lisu dk [ksy (b) baXySaM dk >.Mk    

 (c) ,d izdkj dk u`R; (d) la?kokn   

49- ;kstuk vk;ksx dk xBu dc gqvk Fkk\ 

 (a) 1949 (b) 1950   

 (c) 1951 (d) 1954   

50- vkxkeh vksyfEid [ksy dgk¡ vk;ksftr gksaxsa\ 

 (a) czkthy (b) yanu   

 (c) U;w;kWdZ (d) chftax   

 

 

41. Birsa Munda died in: 

 (a) 1900 AD   (b) 1898 AD    

 (c) 1901 AD     (d) 1904 AD     

42. What do you mean by ‘Renaissance’? 

 (a) Rebirth of art and knowledge 

   (b) A kind of earth    

 (c) Folk Dance 

     (d) Language of Italy     

43. Raja Ravi Verma was associated with: 

 (a) Karnataka   (b) Bengal    

 (c) Kerala     (d) Gujrat     

44. Which type of soil is good for cotton crop? 

 (a) Alluvial Soil   (b) Mountain Soil    

 (c) Red Soil     (d) Black Soil     

45. Which city is called ‘Manchester of India’? 

 (a) Ahmadabad   (b) Mumbai    

 (c) Kolkata     (d) Allahabad     

46. Bhopal Gas Tragedy happened in: 

 (a) 1980   (b) 1987    

 (c) 1984     (d) 1982     

47. Who is the foreign minister of India? 

 (a) Salman Khurshid(b) S. M. Krishna    

 (c) Pawan Bansal     (d) Pranav Mukherjee     

48. What is ‘Union Jack’? 

 (a) Sport of Spain   (b) Flag of England    

 (c) Dancing Type     (d) Federalism     

49. When was Planning Commission 

originated? 

 (a) 1949   (b) 1950    

 (c) 1951     (d) 1954     

50. Next Olympic games will be held in: 

 (a) Brazil   (b) London   

 (c) New York     (d) Beijing     

 
 



 

lkekU; Kku

 
51- ^f’kolsuk* ,d --------------- gSA 

 (a) jk"Vªh; ny (b) {ks=h; ny   

 (c) /kkfeZd ny (d) buesa ls dksbZ ugha   

52- fuEufyf[kr esa ls USA dh jkt/kkuh dkSu&lh gS\ 

 (a) U;w;kWdZ (b) okf’kaxVu Mh0 lh0   

 (c) yanu (d) ykWl osxkl   

53- ^jk"Vªh; iqfyl vdkneh* dgk¡ fLFkr gS\ 

 (a) iw.ks (b) ealwjh   

 (c) gSnjkckn (d) e/kqcu   

54- lkSj e.M+y ds fdl xzg dks ^lka> dk rkjk* ds uke 

ls tkuk tkrk gS\ 

 (a) cq/k (b) i`Foh   

 (c) ;wjsul (d) 'kqdz   

55- ^iadt vkM+ok.kh* dkSu gSa\ 

 (a) jktusrk (b) f[kykM+h   

 (c) i=dkj (d) QksVksxzkQj   

56- fuEufyf[kr esa ls A.D. dk lgh foLr`r :i dkSu&lk 

gS\ 

 (a) Anno Domini   (b) After Christ   
 (c) After Death    (d) After Delhi    

57- ^eujsxk* D;k gS\ 

 (a) jkstxkj ;kstuk (b) lkekftd ;kstuk   

 (c) [ksy ;kstuk (d) Qly chek ;kstuk   

58- ge ^jk"Vªh; laLd`r fnol* dc eukrs gSa\  

 (a) 10 vxLr (b) 11 vxLr   

 (c) 13 vxLr (d) 14 vxLr  

59- ^Msfol di* ------------ ls lacaf/kr gSA 

 (a) ykWu Vsful (b) Vscy Vsful   

 (c) gkWdh (d) fdzdsV   

60- fuEufyf[kr esa ls fdls ^xq:nso* ds uke ls tkuk 

tkrk gS\ 

 (a) nknk HkkbZ ujkSth  

 (b) jfoUnz ukFk VSxksj   

 (c) cn:n~nhu rS;c th  

 (d) lqHkk"k pUnz cksl   

 

51. ‘SHIVSENA’ is a …………….. 

 (a) National Party   (b) Regional Party   

 (c) Religious Party   (d) None of these    

52. Which of the following is capital of USA? 

 (a) New York   (b) Washington D.C.    

 (c) London    (d) Los Vegas     

53. Where is the ‘National Police Academy’ 

situated? 

 (a) Pune   (b) Mansuri   

 (c) Hyderabad     (d) Madhuban    

54. Which planet is known as the ‘Evening 

Star’ in our solar system? 

 (a) Mercury   (b) Earth   

 (c) Uranus    (d) Venus    

55. Who is ‘Pankaj Advani’? 

 (a) Politician   (b) Sports Person   

 (c) Journalist    (d) Photographer    

56. Which of the following is the correct 

abbreviation of A.D.? 

 (a) Anno Domini   (b) After Christ   

 (c) After Death    (d) After Delhi    

57. What is ‘MNREGA’? 

 (a) Employment Scheme 

   (b) Social Scheme   

 (c) Sports Scheme     

 (d) Crop Insurance Scheme    

58. When do we celebrate ‘National Sanskrit 

Day’? 

 (a) 10 August   (b) 11 August   

 (c) 13 August    (d) 14 August    

59. Devis cup is related to …………. 

 (a) Lawn Tennis   (b) Table Tennis    

 (c) Hockey     (d) Cricket     

60. Which of the following is known as 

‘Gurudev’? 

 (a) Dada Bhai Naroji  

 (b) Ravinder Nath Tagore    

 (c) Badruddin Tayab Ji    

 (d) Subhash Chandra Bose   

 



ekufld ;ksX;rk

 

61- A, D dh ek¡ gS vkSj B dh cgu gSA B dh ,d csVh C gS] 

tks F ls fookfgr gSA G, A dk ifr gSA rnkuqlkj G dk 

D ls D;k laca/k gS\ 

 (a) ifr (b) iq=   
 (c) firk (d) pkpk  

62- ,d lkbZfdy pkyd 30 fdeh mrj fn’kk esa tkdj] iwoZ 

dh vksj ?kwedj 40 fdeh tkrk gSA mlds ckn og nk¡, 

?kwedj 20 fdeh tkrk gSA blds ckn og viuh nkbZa vksj 

?kwedj 40 fdeh tkrk gSA rnkuqlkj] og vius vkjafHkd 

LFkku ls fdruh nwjh ij gS \ 

 (a) 20 fdeh (b) 10 fdeh   
 (c) 25 fdeh (d) 40 fdeh   

63- fuEufyf[kr 'kCnksa dks 'kCndks"k dzekuqlkj O;ofLFkr 

dhft,A 

 (1) Brush             (2) Bread        (3) Broad    
 (4) Border             (5) Butter    
 (a)  4,1,2,3,5   (b)  4,2,3,1,5    
 (c)  4,2,1,3,5   (d)  4,3,2,1,5   

64- fn, x, fodYiksa esa ls lEcfU/kr 'kCn dks pqfu,A 

 ABC : ZYX :: DEF : …?... 
 (a) UVW  (b) GHI    
 (c)  VUT   (d) WVU  
65- fuEufyf[kr fodYiksa essa ls og 'kCn pqfu, tks 'kCn 

‘IMPRESSIONABLE’ ds v{kjksa dk iz;ksx djds ugha 

cuk;k tk ldrkA 

 (a) IMPORT   (b) MOBILE    
 (c) LESSON     (d) ASPIRE   
66- fn, x, fodYiksa esa ls og lgh fodYi pqfu, tks vuqdze 

dks iwjk djsA     A, CD, GHI, ….?...., UVWXY 

 (a) POQN (b) MNOP   
 (c) NOPQ (d) LMON   
67- ujhu dh vk;q uohu ds cjkcj gS] D;ksafd os nksuksa tqM+ok¡ 

gSaA udqy] ujhu ls NksVk gS vkSj fiz;adk] ckykth lss NksVh 

gS] fdarq uohu ls cM+h gSA rnkuqlkj muesa lcls cM+k dkSu 

gS\ 

 (a) ckykth (b) udqy   
 (c) uohu (d) ujhu    

68- fuEu fodYiksa esa ls dkSu&lk fodYi uhps fn;s gq, 'kCnksa 

dk lkFkZd dze n’kkZrk gS\ 

 (1) iqLrd          (2) o.kZekyk      (3) iSjkxzkQ     

 (4) okD;          (5) v/;k; (6) 'kCn   
 (a) 2,3,4,5,6,1   (b) 6,1,4,5,2,3    
 (c) 2,3,4,6,5,1   (d) 2,6,4,3,5,1   

69- fn, x, fodYiksa esa ls lEcfU/kr 'kCn dks pqfu,A 

 QYGO : SAIQ : : UCKS : .?. 
 (a) WEMU   (b) WDMV    
 (c) WDLU   (d) VFNU  

70- ml fodYi dks pqfu, tks vU; rhu fodYiksa ls fHkUu gSA 

 (a) lkbZfdy vkSj LdwVj (b) jkbQy vkSj ryokj   
 (c) isafly vkSj isu (d) deht vkSj nthZ  

 
 

 
 
61. A is the mother of D and sister of B. B has 

a daughter C who is married to F. G is the 
husband of A. How is G related to D? 

 (a) Husband   (b) Son   
 (c) Father    (d) Uncle     
62. A cyclist goes 30 km to North and then 

turning to East he goes 40 km. Again he 
turns to his right and goes 20 km. After this 
he turns to his right and goes 40 km. How 
far is he from his starting point ? 

 (a) 20 km   (b) 10 km    
 (c)  25 km    (d)  40 km     
63. Arrange the following words according to 

dictionary. 
 (1) Brush            (2) Bread         (3) Broad    
 (4) Border            (5) Butter  
 (a)  4,1,2,3,5   (b)  4,2,3,1,5    
 (c)  4,2,1,3,5   (d)  4,3,2,1,5   
64. Select the related word from the given 

alternatives.        ABC : ZYX :: DEF : …?... 

 (a) UVW  (b) GHI    
 (c)  VUT   (d) WVU  
65. From the given alternatives select the word 

which cannot be formed by using the 
letters of the word ‘IMPRESSIONABLE’. 

 (a) IMPORT   (b) MOBILE    
 (c) LESSON     (d) ASPIRE    
66. Choose the correct alternative from the 

given ones that will complete the series. 
 A, CD, GHI, ….?...., UVWXY 
 (a) POQN (b) MNOP   
 (c) NOPQ (d) LMON     
67. Age of Nareen is equal to Naveen as they 

are twins. Nakul is younger than Nareen 
and Priyanka is younger than Balaji but 
elder than Naveen. Who is the eldest of all? 

 (a) Balaji   (b) Nakul    
 (c) Naveen       (d) Nareen     
68. Which one of the given responses would 

be a meaningful order of the given words? 
 (1) Book   (2) Alphabets   
 (3) Paragraph     (4) Sentences 
 (5) Chapter (6) Words 
 (a) 2,3,4,5,6,1   (b) 6,1,4,5,2,3    
 (c) 2,3,4,6,5,1   (d) 2,6,4,3,5,1   
69. Select the related word from the given 

alternatives.   QYGO : SAIQ : : UCKS : .?. 

 (a) WEMU   (b) WDMV    
 (c) WDLU   (d) VFNU  

70. Select the one which is different from the 
other three responses. 

 (a) Cycle and Scooter (b) Rifle and Sword    
 (c)  Pencil and Pen      (d) Shirt and Tailor     

 


